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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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Answer the following questions :

frefafe oot & sWw ST .
(1) Define Rectangular hyperbola.
FIAHR ATqTRETT IR Hifsa |
(ii)) What is De Facto System ?
FArag AT Jonelt A ¥ 2
(ii1) What is Gini coefficient ?
it o = ¥ 2
(iv) Explain the meaning of least square method.
=\ & dfd & A4 H T FwifS
(v) What is the coefficient of determination ?
Fre=e Tt = ¥ 2
(vi) What do you understand by Factor reversal
test ?
T ISHTIA TG0 | Y FA T § 2
(vi1) Explain the meaning of Type II Error
II YR &t Ife & 12 1 T HIfwT |
(viii) Write the meaning of permutation.

w9 & 19 & fafeu)
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Section-B 4x8=32 S & | = ST e fefetea g gomet

(Short Answer Type Questions) *1 T I
Note -— Answer any four questions. Each answer should not x+y+z=9
exceed 200 words. Each question carries 8 marks. 2x+ 3y + 7z =52
TUE—a 2x+y—-2z=10
(7Y S q9) 4. If the utility function is U = ¢;.q,, the price of
frder - frd W TR # IR ARTT e T I w the first commodity is X 4, the price of the second
stfram 200 WSl A Rt w T ToE Te commodity is ¥ 10 and the consumer's income is

% 100, then find the equilibrium quantity of both
the commodities at the equilibrium level of the
consumer and also derive the second order

8 3% H T
2. Find (I — A), if matrix A given as :

0 -2 -3 condition of maximization.
A=l1 1 -4 Ifs ST wem U = ¢p.q, §, 999 95 & A
0 —2 -1 % 4, fgda asg &1 g9 T 10 3R Ui &t 19

3100 B @ ST & GO W W SHl awdsi Fi

I - Ayl = 9 9 HifSe, Safe dfeea A f T Haferd AT T it den SR i fgda

0 -2 -3 HH 1 T Hl A HITST |
A=|1 1 -4 5. Explain the difference between dispersion and
0 -2 -1 skewness.

AqfRToT qeon foomar & HEg ST T Hifsa |
6. Write a short note on Lorenz curve method.
wnet o fafy | s e feoit fafem)

x+ty+z=9 . . . .
7. Discuss the main characteristics of Poisson
26+ 5y + 7z2= 52 distribution.

2x+y-2=0 S geA i ged favareti &t faeer it
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3. Solve the following system of equations using
Cramer’s rule :



8. The marks obtained by 10 students in economics
and statistics in an examination are as follows.
Calculate correlation coefficient by rank difference

method :
Economics Statistics
45 40
56 36
39 30
54 44
45 36
40 32
56 45
60 42
30 20
36 36

T qen § 10 96 & A Td Hifems! § 9T

freEr €1 #ife o fafy g Segss Tone

TReed wifsT .
3ty wifierent
45 40
56 36
39 30
54 44
45 36
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40
56
60
30
36

32
45
42
20
36

9. Mention the general features of Chi-square test.

FHE O GHEO H FWE fRTand saET |

Section—-C

2x16=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
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10. Calculate the mean,

variance and standard

deviation for the following data :

Marks More Than Frequency
0 150
10 140
20 100
30 80
40 80
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Index Number :

13. Using the following data, construct Fisher’s Ideal

50 70
60 30
70 14
80 00

frefafea adwi & fau @, faero iR ymn fomem

Ht UM HIfST

YTk | IAferen gt

0 150
10 140
20 100
30 80
40 80
50 70
60 30
70 14
80 00

Price Quantity
Commodities Base Current | Base | Current

year year year year
Wheat 6 10 50 56
Ghee 2 2 100 120
Firewood 4 6 60 60
Sugar 10 12 30 24
Cloth 8 12 40 36

frafafea el @1 3w i g, fheR & T
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11.In a single throw of two dice what is the
probability of getting a total of at least 10 ?

T U T TE TR IVEH W H/A AR HA T FH 10

A FT WfeRa &= § 2

12. What is sampling ? Critically examine the well
known methods of probability sampling and non-

probability sampling.

gfaeaa =1 ® 2w gfaeaa o f-uifaesan
faeaa =t wfasg faftml =1 gueeAs 9deor Hifs |
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g 6 10 50 56
=t 2 2 100 120
3 H TR 4 6 60 60
=it 10 12 30 24
T 8 12 40 36
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